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Note :

PSYCHOLOGY

PAPER - III

This paper contains seventy five (75) objective type questions of two (2) marks each All
questions are compulsory. h
£
f
4

1.  The factors that influence social behaviour and thoughts in certain ways!r are called : |

(1) Independent variables (2) Confounding variables :

"
(3) Dependent variables (4) Mediating variables |
*
.u'// i
/ | f

2.  Read each of the following two statements - Asse tior_l'J (A) and Reason (R) and indicate

your answer using the codes given below : ‘ (j

Assertion (A) : In pre - conventional stage children under$tand morality on the basis of

social customs and %ia.l_ues
Reason (R) : In pre - conwv nt1oﬁa1 stage, children make decisions based on whether they
will be rewa ded or punished.

Codes :

(1) Both (A) and (Ii) are(true and (R) is the correct explanation of (A)

(2) Both (A) gnd (R) are true, but (R) is not the correct explanation of (A)

(3 Ais true,‘?ut (R) is false
(4) (A)is false,/but (R) is true
|

3.  Research shows that the following does not contribute to teacher effectiveness :

(1)~ @ommunication skills (2) Use of ICT

Years of experience (4) Use of student feedback

s |H||H|||HHH|| (I z Fapeca
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EIIEE f
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I T

AfUweT (A) : - Wwﬁaéwmﬂﬁ ﬁmﬁaﬂtu@ﬁ%aﬂwmﬁﬁwaﬁ

W%I ;‘k
e (R) : ﬁmwﬂﬁa@sﬂwwwaﬁmﬁ%%ﬁwawaﬁa

TR AT ST b

2. frafafed & ol - afiemeT (A) aﬁ?ﬁ%(R)aﬁwﬁt&aﬁtﬁ%ﬁqwﬁme@w

%<

¢ -
1) (A) 3R (R) 3HT & |3 (R), (A) *T @&t =@ €1
(A) SR(R) ST T € TG (R), (A) FT T =0 T <
(A) T ¥, ?fmr(mnm%

(A) Ted B, &R (R) T B

1)
(2)
)
4)

|
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1) " FEEO T (2) STE.ELEL. & A
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4.  Match List - I with List - IT and select the correct answer by choosing from codes given
below :

List - I
(a) Graphic rating scales @)

List - II
Evaluation method where employees are

ranked from best to worst.

(b) Behaviourally anchored rating scales (ii) Evaluator rates employees on

classification of some qualities.

() Group order ranking (iii) Evaluator rates performance factors on
an incremental basis. ’

(d) Individual ranking (iv) Evaluator rates actual job .re;,l‘ated
behaviour along a coantinuum.

Codes : d

@@ (b) (9 (d) _*. , f

®m @O G @) () U - |

@ @) @ 6 @ ’ A

G) (i) (v) @) @) f 1 |

4) @) (v) @) () f \ /

5.  Read each of the following two statements - Assertion (A);'émd Reason (R) and indicate
your answer using the codes given bglow " (

Assertion (A) : Obsessive com&elsyye d1sorder is a disorder of thought and is thus classified

in the schizgphrenia spectrum in DSM-5.

Reason (R) : Evidence _bas'é shows that a combination of pharmacotherapy and

psychotherapy yields good results in OCD therapy.
Codes : .

(1) Both (A) and (Ii) aré {true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) - (A) is trug but (R) is false

(4)

(A) is false,?ut (R) is true

. 'R . . . .
6.  Phonemic restoration as we perceive speech in a noisy party is an example of :

(1) » Top down| processing (2) Bottom up processing
(3) Subliminal perception 4)
\

|

Supraliminal perception

7. Feeﬁlng touchy or hypersensitive following an upsetting experience is a form of :
[
(1) Imprinting (2) Habituation

Sensitization (4) Reflexive Behaviour

Dasts IHIIHIIIH LTI

=

Paper-III

www.examrace.com



4. G - 1 H G - 11 % 919 gofera wifse aen Fefated wef 1 330 w3d g e ST 1 =2

el - 1 el - 11

(a) STRE! AT A9 (i) '-LN[Oh"I fafy fSrew SH=nfal 1 Hife-FHIo
qaaH | T8 TUE & o9 R S g |

(b) HaBR-Teerek AT HIUH! (ii) TCATRTRA HHATE! h] - |@T’ﬁ
& STMYR T HIA | :

(c) HYE HH iIfe-FI0 (i) TEAFTR (TG 1 AT GIhE ajT%TRq'{
FIAT T

d) FafFs Hife-FHo (iv) TeiTehdl STeieeh hrE 1 419 Fiacd &
T oG HIER h AR T B ¢

%< el
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S @) (A) T R (R) T T
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8.  Entry of information into long term memory depends upon :
(a) Maintenance rehearsal (b) Elaborative rehearsal
() Method of loci (d) Primary memory
Codes :
1) @and®) () @and@© () Gand(d) @ (b)and
9.  Because it has the external features associated with the concept of dog, a wolf is f;'el;ceived as
a dog. This is an example of : 'f; )
(1) Centration (2) Equilibration { r
(3)  Object permanence (4) Prototype
10. Which of the following is the final destination for much of tl{e br%-in’s information about
emotion before action is taken ? ; >
(1) Amygdala (2) A‘;erior cingulate cortex
(3) Pre-frontal cortex 4) Er-'llHypo%hala__flnus
11. Cattell propounded gf-gc theory of intelligence mainlf‘l{oasedf,on :
(1) First order factors of abilities R(Z) Second pr—de} factors of abilities
(3) Third order factors of al?ihﬂ'ei I (4) Higher order factors of abilities
Vi
12.  Which of the following are elements in Carl Rogers’ person centred theory of personality and
psychotherapy ?
(a) ideal self { (b)” “congruence (c) positive regard (d) dissonance
Codes : I
1) (@) () sirhéi © (2)  (b), (c) and (d)
»3) (@) () and,{d), (4) (@) (b) and (d)
13.  Which one of the following statements is true ?
(1) » The “Global Five’ factors in personality refer to the second-order factors of 16 PF, latest
edition.
(2). The ‘Global Five’ factors refer to the factors assessed by the NEO-Five Factor Inventory,
J latest edition.
(3) " The ‘Global Five’ factors refer to the factors assessed by Goldberg’s bipolar adjectives.
(4) The ‘Global Five’ factors are derived from Eysenck Personality Profiler, latest edition.
oans [[[|HNHEA AN
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14.

15.

16.

17.

o-aus [N

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Castration does not eliminate sexual behaviour completely in mammals,
including humans, of both sexes.

Reason (R) : Hormones do not play role in the regulation of sexual behaviour.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A) | ‘

(3)  (A) is true, but (R) is false -
(4) (A) is false, but (R) is true ; y
Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) Helpful individuals perceive the wotld as fair an predictable in which
good behaviour is rewarded and bad behaviour is punished.

Reason (R) : People believe in a just world: ]
Codes : [ - f|'
(1) Both (A) and (R) are true and (R) is thle correj explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the c ' ct expl?nation of (A)
(3)  (A) is true, but (R) is false =
(4) (A) is false, but (R) is true .4 (
</ '

Which of the following statemlents best defines maturation ?

(1) It is directly based on Social-cognitive learning

(2) It is an automatic biological development of the body that naturally unfolds over time
(3) It does not takei-place in human beings
(4)

It is the basis of all physical and psychological developments

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer usinECQdes given below :

Assertion (A) : Leaders exert powerful effects on followers through the attributions followers

ake about them.
Reason (R) : | Leaders have self confidence and environmental sensitivity.
Codes : |
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)\ 4 Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) ™ (A) is true, but (R) is false
(4) (A) is false, but (R) is true

@
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18.

19.

20.

21.

The following disorders are coded on Axis I of a five axis diagnosis :

(@) 'V codes (b)  personality disorders
(c) clinical conditions (d) intellectual deficit
Codes :

(1) (a)and (c) only (2) (b)and (d) only (3) (a) and (d) only (4) (b) and (c) only

Four important elements in the theory of signal detection are :

(1) errors, hits, speed and accuracy /
(2) speed, accuracy, power and false alarm { r
(3)  hit, miss, correct rejection and false alarm f

)

(4) acuity, efficacy, speed and power y
"
In Hullian System the term Hierarchy of Responses is used to depict:
(a)  If the first innate response pattern does ngt";llleviat"e a need, another pattern will occur.

(b) If the second innate response pattern (j’bes not reduce the need another pattern will
| i

occur. | f

(c)  If the third innate response pattern does not w%)r , still another pattern will occur and
SO on.

(d) If none of the innate behaviour pattern is effective-in réaucing the need, the organism
will stop responding. %4

Codes : -« J:

(1) (a), (B)and () (2) @)/4(0) and (d) (3) (b), ()and (d) (4) (a), (b)and (d)

Jia had written a list to dother week end work, but incidently left it home while going out for
her first activity. Trying to remember the list, Jia remembers what was at the beginning of
the list and what was'at thé end but not those things in the middle. This is an example of :

(1) Encoding specificity effect (2)  Flash bulb memory
(3) = Serial position effect (4) Tip-of-the tongue effect
o |

22." How does one céoosl'e the option with the highest expected utility while making rational

decision making ? Find the correct sequence :

(a) _ Assigning utilities

(b) Weightingl/multiplying the utilities by the likelihoods

(c). Evaluating the likelihood of alternatives

(d) ‘:" Assessing the consequences

Codes':

M @ @O @ @@ bd 6@ @ b @ ©d @ b
oans [ [|HNHEA AN 10 —
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23.

24.

25.

26.

{ (4

Brief stress enhances the activity of immune system as evidenced by the action of
(1) macrophages (2) Tcells (3) Becells (4) all the above

Torrance Tests of Creative Thinking (TTCT) are mainly indexing :

(1) Creative Products (2) Creative Processes

(3) Creative Personality (4) Creative Persuation
o
f

4
Personality assessments in forensic settings use the following psychometric and behdvieural

measures : { r
(a) Galvanic Skin Response (GSR)

(b)  Millon Clinical Multiaxial Inventory (MCMI) . -

(c)  Continuous Performance Test (CPT) _ & { Hﬁ.

(d) Sixteen Personality Factors Test (16 PF) /_/ # |

Codes : / [

£ 1
(1) (a) and (b) 2 (©@and(d) [ ©3) sﬂl)f (b) and (c) (4)  (b), (¢) and (d)

Read each of the following two statements - Assertion (A),and Reason (R) and indicate
your answer using codes given below : (
5

Assertion (A) : Paired comparison’ method is not considered suitable for scaling large
number of atti:c?}dq; scale statements.

Reason (R) : For computing't scale values, paired comparison method uses Thurstone’s
Law of comparative judgement.

Codes : " 3
(1) Both (A) and (ﬂ) are(true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) © (A).is trud) but (R) is false
) (A)is falseffyut-_l(R) is true

27. The following are found to be significant factors in educational achievement :
(a) teacher - student ratio (b) medium of instruction
(c). rehearsal and practice (d) environmental stimulation
Cokdes 2
(1) - (@) and (b) only (2) (a) and (c) only
(3) (@), (c) and (d) only (4) (b), (c) and (d) only
o-ons [ [N 2 Paper 1
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23, TrAfafed # fegen! framfierar o IRummesy steawre™ gfded Wafaet 931 i Fishad &l 56

TAR?

1) e 2) 3 wifvEd @) =t =ifdrERd 4) Sugd= gt
24, I FH GoATHS Gra G (A3 Freafafad § 9wt A #wa €2

(1) HSHIHS 3] (2) SIS Fisharg

(3) ST AR (4) YGSHHE JoA=H

25. Rfae Wfdn H sAfada sk 3 f=fafaa witad ﬁwwﬁywmfw%\:
(a) At f&rT g (S.TE.aR.)
(b) THeeH FAiTTha AeeiUfoTad sy (TH.1.TH.3TE. )
(c) THRIGAT WHHY o= (F.d.2.) 4
(d) oL TEAEE Haed T (16 91.0F.) /_,4 »
6T f .'I
(1) (a) 3R (b) @ @I [ @O @ ®) IR

26. ﬁmﬁrﬁ@aawﬁ—WW(A)ﬁw(R)ﬁméﬁmmﬁwwm@aﬁ
I T . 44 I')—L .
AUFRTT (A) :  wS W H aﬁmw FHUA & WO * foaC gimdg qa fafy suge T8
AT STt 2 | Vo ¢
qeh (R) : AT qe-ah! AT w3 o faC giHa qa 96fd § ofed & qaqg o

fagid &1 ST o Siran 21

Eﬁ-: { 3
1) (A) &R (R) S w@ £l (R), (A) FT 8 =T B

) (A) 3R R) I T W (R), (A) F T AT T ¥
_(3) (A)yFE T, AT (R) e
W@mwﬁﬁﬁmw%

27. RAeiorer Suetfsy § freAfafea # ¥ M Heerqul we % &9 H 9 W § 2

(a) Toeren-fommefl st (b)  Tereror =t ATeAH
(), Tt iR e (d) Tl SE
Fe !
(1) f&F (@) () (2) fa (a) 3 (o)
3) fa% (a), () R (d) 4) fa® (b), () R (d)
o-oars ||| HINANANIN 13
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28.

29.

30.

31.

32.

o-aus

Which one of the scaling method is more likely to yield multidimensional attitude scale ?
(1) Guttman scalogram analysis
(2) Paired comparison method
(3) Equal appearing intervals method
(4) Method of summated rating
When is aspiration a method of choice to make a lesion ? ]
(1) in a deeper brain area (2) in an area of cerebral cortex f--
(3) anirreversible lesion (4) in underlying white matter ; rr‘ )
Trace the sequence of events turning default female sex of the fetus into ifmale :
(a) SRY gene produces Sry protein by
(b) Presence of Y chromosome B F
(c) Testosterone masculanize Wolffian duct into seminal vesicles (
(d) Primitive gonad develop into testes ' »
()  Mullerian inhibiting hormone defemini;e{’;he fetus!
Codes : r_"l \
1) (), (@), (d) () () 2) [ (), (d§ (€) @), (c)
(3)  (b), (d) (a) (e) () 4) " (d), (b), f% ), ()
A psychologist was administering a Projective test which involved a word association task.
She tended to nod and smile every fime a plural word was given by the respondent. The
following testing bias was seen :™ 4
(1) favoritism Y1 (@) test wiseness
(3) selective reinforcement (4) gender of assessor
Match List - I and List -'II and select the correct answer by choosing from codes given
below : ' |
List -1 List - II
(Measurelof Personality Assessment) (Scoring element)
(a) MMPI P @) V, XY, Z scales
(b) MCMI f (i) Needs and presses
(c) TAT (iii) Populars
(d) Rorschach, Inkblots (iv) L, F, Kscales
Codes : |
L @ () () (d)
'y @) G 6@ )
@G () @) @
@) O ) (v )
@) ) O @
A 1 Faper-
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28. fr=Afafea # @ foeg amm fafy & sifues sgemardt sifugfa arom #1 e St 82
(1) T Thaamd forgetwo
(2) Ffad ger fafy
(@) wE g # FHaua fafy
(4) iR A & fafy
29. U wel faetfa e & foasew &1 e fafy g2
(1) Wfsh % HTH FR & & o 2) A FEH F &FH
(3) TF sEdy faafy § (4) ertifed v T & { s
I-' r
30. YUl % STRY rel foi o gew fon o uiafdd € i seAnei #1 oty 82
(a) SRY A Sry WM Her ot ©
(b) Y TR i Sufeufa F e
(c) TRRIA FifehHad Wﬁwwwﬁsﬁam% - |
(d) e S v, guw § faswfad gt ¥
) t@ﬁmﬁﬁwrﬁmﬁm{maﬂaﬁ]waﬁm%,
W : .-r ; _-'Il
(1) (b), (a), (d), (e), (c) (2) | (b), (d éﬁ) (@), (c)
B)  (b), (d), (@), (e), (c) @) (d), (b)4a), (©) (o)
31. UH TAITIE T IR TOe e o foaem Q’&EW THMEEE w1d IMEA a1 ST <A
mﬁmwﬁqaﬁmwamﬁ?w off ofR et oft | g Frefafaa gl sy
@ T | Y
(1) e . (2) wE g
(3) EIAHS YT, (4) TleroTRal 1 faT
32. get- [ &I gt - II%"Wa@ﬁmﬁamﬂﬁﬁqmﬁﬁﬁﬂﬁwwwﬁl
et -1 et - 11
( AfFITBTFRAT T AT ) (TR aee )
/(2) TATAM () ot T, 9, S whd
(b) THEHLTASAE. | (i) STMEvIHAT R TamE
@ Audn (iti)  SARI
(@) . Terl s (iv) T, TH, & @hd
FE - |
L@ () (9 (@
()" @) @) @) ()
(2) = (@) (v) (i) ()
() (i) (iif)  (iv) (i)
(4) (i) @) (i)
oons [ IIEALAN i Paperi
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33.

34.

35.

36.

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : gf and gc correlate positively with each other with moderate magnitude.

Reason (R) : Cattell used second - order factor solutions for the identification of gf and
gc were oblique.

Codes :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A) | ‘
(3)  (A) is true, but (R) is false ; .r‘; )
(4) (A) is false, but (R) is true / y
The underlying motivation for acts of aggression is . {
(1) intent to harm (2) anger o f
(3) retaliation (4) need te exert conh‘ol {

*

Which of the following is a characteristic of Cf?homsky s theory ?
(1) Development of language is between three an f1ve years of age
(2) Language development is dependent on the r r;?prcements received by the child

(3)  Children acquire mistakes in language by obsefving their parents and others around
them —

(4) Children have an innate mentz;'il grammar r

</
Match List - I with List - II arfidfselect the correct answer by choosing from the codes given
below : -

List - I List - II
(a) Physical trauma = ~ (i)  The cognitive and emotional upheaval that follows a highly
' { distressing life.
(b) Psychological trauma (ii) Most of us remember nothing before the age of about 3 to
‘4 4 years.
(¢) Infautile amnesia (iii) It may cause permanent amnesia if particular areas of the
f f brain are damaged.
(d) Repression| (iv) Distressing mental content is transferred from the

conscious to the unconscious level of awareness.
Codes : |

L@ B @ @
WL @) ) @) ()
@) L) @) (@) ()
(3) @) @) (@v) (i)
4)  Gv) @) @) ()

o-aus [ IFHI N 1
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33.

34.

35.

36.

¢
O
=
sy
Q1

frefafad 91wl - tfueRe (A) iR ek (R) 1 dfet iRk T fau Tu 2 =1 Swim i gu we
Wﬂﬁl"{:

ARIRIT (A):  gf 3R ge 3T § FTOF TR d% ¥ F9 T Hegm=igd e €

e (R) : Hed A of AR ge H U= 7g f5-hHew FREF FHEHI H1 GAN fohan st fozfer o |
e :

1) (A) 3R (R) T &I § IR (R), (A) FT T == B

2) (A) 3R (R) A w&t § W (R), (A) FT FE == T 7 {

(B) (A) T E, dfFA (R) Tora 71 /s
(4) (A) @ B, dfed (R) 9L R f

AT foraneti o fere swafifea sifrimon @ gt €2
1) @ agam =t =W 2)
(3)  UcATSHHAT (4) fEEm aﬁmﬁﬁ A Eﬁ CIERRET

/.-4’
frerifor & i S ¥ fagia 7 fem 22/ .
(1) T 1 forerm i i oie e 1 o1y i S|/
(2) oo o a=i R e el W AR e g
3) Wﬁwg&mmﬁwﬁmamaﬁmw%ﬂwﬁaﬁ%mﬁmﬁwﬁh
BT '\. f
(4) olmuﬁwlﬂ-lwudleHanoqlqnWEﬁT%l '
Y4
Tl - 11 Gt - 11 & 91y gford &L a0 o iU T el 3 9 W ST 1 =91 A
gEr -1 . T - 11
(a) VRIS P { ~ () EIHHE TE GoeAs SUT-qUd e 91g Sfed Hehewd
ST
(b) n'whéslﬁwﬁaqﬁmﬁ (i) = Y s F 3 Y 49 F 99 D T F B off 9@ AR
el el |

[ () e %F&@M (iii) AfS ATT=h o Fo fomiv & aifque & Sd € d1 T Sfaa

RIS
(d) =T - (iv) HeheTcHeh HMIES STIWE 1 9dd § STodd H THaRd g
He : |
. @ (b) f () (d)

Y@ @) @) ()
) =@ @) @Gv) ()
) (D) (@) (@v) (i)
) () () () ()
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37.

38.

39.

Match the items of List - I with items of List - II and select the correct answer from the
answers given in codes :
List - I List - II
(Concept) (Theorists)
(a) Vicarious Trial and Error (i)  Skinner
(b) Hypothetical Deduction (i) Toleman
(c) Cumulative Recording (i) Hull ¢
(d) Reciprocal Determination (iv) Bandura .;"‘ .
Codes : f F
@@ (b)) (o) (d) i
@ @ G (@) Y f
@ O @) @) @) =S Y
@) @ @ 6 W A’
@ @ O @ @ [ | |
/ J
The centre - surround organization of ganglion ce‘f{hat enhance contrast at edges in a
visual environment is well illustrated by : —
(1) Craik bands (2) Mach bands (3) Ldminance bands (4) Optic bands
. J: |
Match List - I with List - I arldéselect the correct answer by choosing from the codes given
below : -
List - I List - II
(Diagnoses) { :{ (Axis used in Multiaxial system)
(a) General Medical conditions i Vv
(b) - GAF (Glabal Assessment Functioning) (i) I
f(c) Vcodes o4 (i) II
| (d) Personality ﬁiisolrrders (iv) I

Codes : :
@ ) [ (@

M) @ G/ @) 6
@) @) O G
@) @ O @) (i)
@ O @) () @)
o-oars [N
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37. Gt - %1 Al &l Gt - [1 & @ Gafara &L a0 = U 0§ 9 9 Q@ ST F1 =971 B

38.

39.

T - 1 Tt - 11
( AFYTOTT) ( fagTa-gfurge )
(a) Ufrenfs 9wl AR T@dt (i) R
OIREIREREULE (i) A
(c) HoE SAfyered (it) T
(d) s fHuRT (iv) g {
E T [
@@ () (o9 (d)
® @ @ 3§ (i) by
2 @ (@) (Gv) (i) > & \
3) @) (@Gii) @ (iv) ' P
@) (@Gv) (@) G) (i) f// [

/

WW%W%@—WW%@Q@W\WmmmWﬁ%W%Gﬁ

frfafed @ T gaT ®
(1) % v (2 TETHe () G (4) i wE
«/ '
T - 1 I - II%NQWWHWWM@WWW@WWWW
aﬁﬁﬂz : -
et - 1 ‘ It - 11
(frem) { ( ( ST yuTTedt | U= el )
(a) T fafdhea sRfefar G Vv
(b) STTE. Efeas gearET 1) (i) I
f o W) i;‘r( (i) 11
(d) =R (iv) 1II
k= [
@ & (© @
M @) @i ) @)
(2) L (i) (v) () (i)
@ @) O @ G
(4)
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40.

41.

42.

43.

44.

The growth needs of ERG theory are represented by various needs in Maslow’s model :
(1) Physiological and social needs  (2) Safety needs and esteem needs

(3) Social needs and esteem needs  (4) Esteem needs and self-actualization needs

In Bloom’s taxonomy of educational objectives, the following appear in ascendingiorder :

(1) Remember — Understand — Apply — Analyze ¢
(2) Apply - Analyze - Understand — Remember { "
(3) Understand - Apply - Remember — Analyze f
(4) Analyze - Remember — Apply — Understand : ¢
1 {
Failure to develop consistent identity results ir}/ »
(1) Inferiority (2) Role confusion IIn‘E3) Stagnation (4) Social isolation
\ I

f I
f i

Helpers respond to the needs of a victim because ,’{ey want to accomplish something
rewarding; this may be referred as : S

A

(3) Empathy - altruism hypet?ésis (4) Pluralistic empathy

(1) Negative state - relief model “2) Empath{c - joy hypothesis

The philosophy of Advalta Vedanta in respect of shaping beliefs does not distinguish
between : {

(@) Self and non - self

(b) - Human' aftd nature

‘(c) Human an"? sogiety

Codes :
1) . (@) and (‘O)’I (2) (a) and () () (b)and () (4) (a), (b) and ()
II'.
45. Whigh is the correct order of the emergence of following Psycho-Social strengths ?
(1) : Ifove, Fidelity, Wisdom, Care (2) Care, Fidelity, Love, Wisdom
(3) Fidelity, Love, Care, Wisdom (4) Care, Fidelity, Wisdom, Love
o-oss | [{| 11NN 20 Paper-11
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40. 3.3 fogia &1 fawm a8 Aied | fafie sewsaet g fefod 2 € ¢

(1) R IR AT STavashan

(2) G SETIRAT T G SATTIIHRATL

(3) WIS STETFHAT AU T TR

(4) UM AEIRAT Ul SAHHlG SR

f

41. =0 % et YA F i § fAfafEgd § ¥ HI-91 9¢d g HT HI S § ? i .

(1) AT FHTAT — FASAT — STIIART FTA > TITATI HTAT {

2)  ATHEANT HTET — Favelwor FT - FHSA - FE HTA

(3) HHA — STIIAN HET — G HEAT —  fIATT BT

(4) TITATT HET — ARG KT — SFTIAN HEAT - HH%H‘II - |
42. FITA YEAM faefad & fawhara |4H|m|ud'§?m@ﬁ°f%

(1) BE9E 2) HftwisaEd | (3) T"i‘?ﬂl‘rﬂ (4) HEITSTH THERIIA
43. TEU FI FeAd FIA 1A Toh Hifed FHMTEeaRde W B[Guqom fé?r g HifF 9 5 TRaATEs 9

T T 3981 W@ §, Ffared ﬁﬁ@ﬂ?{‘ﬁ fean < Tk ©

(1) RIS STeree - Wuﬁﬁ (2) dEIYfd - 3T FreheqA

() eyl - R Jwe (4) el - =g
44, fovarEi =1 SR <A ﬁg W‘qﬁ’ 3Tgd dgid o1 q¥H F=fafed o § fraeh = 9% 7@ &l ?

(a) A SR 3TH

() W sk Tt

! (c) HF= ﬁ?q%

< :

OF @G| @ @R () (b) ¥R () 4 (@), (b) ¥ (o)
45. ﬁlﬁﬂﬁqd TSI TN & STfaTa 1 W& 7 HIA-91 7 ?

<1>'auﬁmgmm (2) e, fr, 3w, SfgEr

31, IH, TR, iG] (4) e, T, gfgar, 99
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46.

47.

48.

49.

From the following list of tools used by the career guidance counsellor, choose the odd one
out :

(1) DAT (2) GATB (3) DBDA (4) SVIB

Job design comprises of different aspects :

(a) Job enlargement  a

(b) Job enrichment L s
(c) Job rotation f [
Codes : _ -y

(1) (a) and (b) (2) () and () () (Pand @ 4 (@), (b) and (9

" N

The following are disorders that are included?."'fin the anxiety disorders spectrum :
| I

(a) Panic disorder (b) / Body ysn":orphic disorder

(c) PTSD (d) Fugue ;

Codes : A (

(1) (a) and (b) only (2) ,a{ld Kc) only ( (@), (b) and (d) (4) (b), (c) and (d)
| Y

Detecting movement in splte of camouflage is easier for people who are :

field dependen!ii -
|

(1)

(2) field independent
(3) . both field¢dependent and field independent
(4)

neither fiel{? dependent nor field independent

50. Read the following statement and decides :
“If a rat that haci previously learned to traverse a maze or a runway to obtain food is placed
directly into a non - empty goal box, it will stop traversing the maze or runway on subsequent
trials”. What it exemplifies ?
(1) Latent Learning (2) Place Learning
Response Extinction (4) Latent Extinction
poss ||\||H|||H!||!|H JANEAIE 8 Faper
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46.

47.

48.

49.

50.

AU - ARG YH W §R1 TN fhT SHamet 9l i fifha = § | oHd 1 =999 &<
1) <udn 2) ST @) <r&tEi (4) TE.ESTEE

e uftey # fafr=T vee B €

(a) wHE faadd (b) wE Hagd (c) T FHHAECA )

FE | 7
(1) (a) 3R (b) 2) (2 3R (o) (3) (b) 3R (o) @) [ (), (b) 3R[e)

frefafad & @ #H-9 faar g |o|eh|<wﬁ$rrﬁ=m%7 ;
(a) e fasr ‘e?( Eap] éamr faw
(0 AT (d) mzm '

e :
1) fad@sre) @ f@Fa@ f(_b (4)  (b), (o) 3R (d)

m@ﬁ%wﬁrww&hﬂﬁﬁ%ﬂw%sﬁ
(1) & onfyd 8a €

) & oIfea e €

3) aaaﬁaaafﬂa;wﬁaaﬁ@%%

)

(@) 1 o g A A st A

ffafad swem 411% 3R foffa =<

g T @I, WM W R F AU g T el A9 W § G O S g 8, h
mﬁwawwﬁmwﬁmw%ﬁ%mﬁmﬁw@ﬁaﬁaﬁmawmﬁwmaﬁ
FAIM" 38 frefafen §  frww os §2

(1) > FeIe AT (2) TN AfH
(3) wfafsean faeam (4) o= faamd

o-aus [ N RUI 2
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51. Match List - I with List - II and select the correct answer by choosing from the codes given

below :
List - I List - II
(a) Encoding Failure (i) Information that is not accessed evades from the
storage over a time
(b) Proactive interference (i) Information is not attended to encodingg™
(c) Decay (iii) Newer information interferes with the retﬁév-al of
older information { r
(d) Retroactive interference (iv) Older information already in mémory interferes with
the learning of new information r
£
Codes : " B (
.// #
@ () @ @ /
¥ | III
O O @ 6@ @) *‘ | /
2 @ (@) (@v) () {é
@) @) (i) @Gv) () “{ (
</ '
@ @ ) @ @ oy S

i,

52. Read each of the foll(owiﬁg two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) .i‘II Language affects our thought process.
/ Reason R): # anguage affects our ability to store information.
Codes : F '
(1)  Both (A) a.fld (R) are true and (R) is the correct explanation of (A)
(2),| Both (A) and (R) are true, but (R) is not the correct explanation of (A)

v
(3) = (A) is true, but (R) is false

(4) (A)is false, but (R) is true

o-aus [ IFHI N z

=
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51. Hef - I Gt - 11 & 19 GAfad wifse qen fefafad |l 1 T30 oid gC 9@l S T =9

et - 1 T - 11
(a) FeA famwerar () T F @Y SR ¥ g & Wl § fSraes ggan 6 o
ekl
(b) STUfRaTH® Y (i) o FeT B Tef gt § :
(c) &™ (iti) GO ST B [TeGR T8 &Lﬂﬂl?ﬂ % STfa"Tg 3 e
Tl ©
(d) TvafwarT® fy (iv) wﬁﬁﬁq&awﬂéwﬁ%ﬁwﬁmm
ZTerdt § (
%z A
@ B © @ [\ /
® @ @) () () \ «/
2 @ @) (@v) (i) R
% f
®) @) () (@v) (i) ( .
<
@ @ ) @ @y, "

52. frefafad 1 wer - W(A)aﬂwa&(mﬁmaﬂtﬁmwﬁwwmgwﬁr
ERASSIS 1 (

AR (A): ¢ W%ﬂﬁﬁwmaﬁgmh?rm%l

/& (R): FTEH%FR“[ G GUE I 1 &THAT ] FATed Hiel © |
%

(1) (A)aﬁI(leaﬁaé%aﬁt(R),(A)ﬁuéw%|

2). (A)W(R)ﬁW%W(R),(A)HﬁWWWﬁ%I

3) (A)W%,@W(R)W%I

4) (A) 7@ B, AfA (R) T R

o-aus [ N RUI :
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53. Trace the right sequence of hypothetical series of events by McClelland in the context of

n - Ach:
(@) n- Ach in children
(b) Independence training by Parents

() Economic development

(d) Self reliance values

Codes : ¢

W @0 @0 @ @b @O @ @do)o @ (o) e
{

54. Match the items of List - I with the items of List - II and select the “correct answer from
answer codes given below : :

r

List - I List-10 | 3

(Concept) (Descr/'_pt'ion) » !
(a) Little-C (i) Ever%/ﬂay creat1v1ty
(b) Big-C (ii) Creativity i Eminents
(c) Pro-C (iii) Creativity 13 fhosen profession
(d) Mini -C (iv) Personal crea 1V1ty 4
Codes X

@ b © @ <)
M O @ @) @ A
2 @ @ @) (i)
3) i) @) @ ‘i, (iv),
@ @ (). @Gv) " ()]

55. Read each of the following two statements - Assertion (A) and Reason (R) and indicate
/ your answer usiﬂﬁ the codes given below :

| Assertion (A) : Projective techniques are difficult to standardize and norm.
Reason (R) :  'Projective techniques are not timed tests.

Codes : |

(1)|k Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) W Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) - (A) is true, but (R) is false

(4) (A)is false, but (R) is true
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53. YAl & SEYIHAl & TeH H Hacloie NI HAISH i URehfeqd @ensil 1 Wl STIhH 1§ ?
(a) I H IqASH Fl SATAIHRAT
(b) - foe G TerdsIar k1 Hiveron
(c) oTfefe faemmd
(d) R fd o
%e {
0 @ ®), [ © @ @ 0@« 6 @b & (4 b @

I’ r
54. et - [ & &l ol Geit - 11 o |1 Gafad s a9 9= 75U T Fef § 9 9@t SR 1 997 &L

el - 1 et - 11
( 3T ) (=uia) (
(a) fafea - =t () 3 geTETHar
(b) fomr- <t (i) et T FoATCHRA
(¢ - (i) oo # YT
(d) - (iv) SAfRTTd
%< A f v
(@ (®) (o (d) a !
M O 6@ @ @ oy,
2 @) @G (v) (i) -
@) @) @ @ @)
@ O @) Gv) G

55. frefafaa 3 Sl - fUReT (A) &R @ (R) Fi 9fer iR F= fou Tu Fei 1 ST Fd g w2
safe: 4
[ 3rfaeRerT (A) : ‘E??Iﬁi'q gfaferl 1 A 9 AHE- R w3 g g
e (R) : gerd gfafai gaa w1 et | Tl TE Sl 2

1) (A) 3T (R) ST T § S (R), (A) ) T oS ¥
)\ (A) TR (R) ST T € Y (R), (A) T T =Ame = €
3) " (A) WE B, R (R) TTerd ¥

) (A) T ¥, AfA (R) TR
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56.

A 19 year old boy was administered the Wechsler Intelligence Scale for children by the clerical
staff of a busy psychologist who later wrote the test report. A xerox copy of the test material
was shared with the child’s parents to ensure that he performs well. The following ethical

principles of testing were violated.
(a) use of appropriate test

(c) copyright

Codes :

(1) (a) and (c) only

(3) (@), (b) and (c) only

(b) professional qualification of tester

(d) culture fair testing

2) (b) and (c) only ¢
(4)  All of the above {
Ip' r

57. Match List - I with List - II and select the correct answer by choosmg from the codes given

below :
List - I

(Sleep phenomenon)

(a) Stage -1 sleep (i)

(b) Stage - 3 sleep (if)

(c) Sleep spindle (iii)

(d) K- complex (iv)

Codes n
@ ® (@ @ «__’{

M o6 @ @ @ A

() G @) @) @

() () (@) (@) !:' (i)

@ @) @ §

iii). o (i)

4 List-
(EEG display)

Singl,é’ large —ve wave followed by large +ve wave
| I

ence of delta waves

Low voltag higf’l frequency EEG signal
Occasional l

Waxing and wa_ni,ngrigurst of 12-14 Hz wave

58. Emergent staigé‘"— I sleep is characterized by :

[ (a) sleep- spiﬁztle
(c) electro-oculographic changes
Co@es : -
(1) (a) and (b) (2) (a) and (d)

|

|

(b) electromygraphic changes
(d) K- complex

() (@ (9and(d) (4) (b) (c)and (d)

59. Self is conceptualized in Western and Eastern perspectives on personality, respectively, as :

F
(1) free and deterministic

ideal and real

Dasts |H||H

(2) instinctive and learned

(4) independent and interdependent
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56. W& 19 99T ITcT hl Teh & HATGAN SR o [ATdehd W% gRI <] & AU SR seeisig YA
oo o foent Ta- e S0 Aee 3 TR T | TeT-\r i S gfd 5= % qiar-fuar 9
ren 1 S fored ghafraa @ g% o sge froues oree1 81 wien o & frefafaa Mo fagial @
Iocte T T o
(a) Ffoyaa get 1 3TAn (b) URIEN T ATl ol HTeHIgh Al
(c) wrREe (fa=nfusr) (d) Wepfags gdem
%< L
(1) o (a) 3R (o) (2) e (b) 3R (o) (s
(3) I (a), (b) 3R (o) (4) ST wet (

57. I - 1 gA - Il%magﬁﬁﬁﬁﬁqamﬁmﬁf@ﬁwwuﬁHW@Hﬁwaﬂw
FIfT

T - 1 A Eﬁﬁ 11

( e we) / @‘s‘?ﬁ LENED
(@) = - 1fHs (i) kehcd TJed FRUTCHS: T % T & S
(b) =l - 3= (ii) ; 3351 Hohasd
(c) Trs1 - fodew (i) %—«:r ?mﬁ 1 AT e BTl
d) F - FEE (i (12 - 14@3?&@&%@@%;@%2
e : : -« 4_'{

@@ ) (© @ ¥4
1N @ Gv) (> (i)
(2) (@) (@) (@Gv), @)
G) @) (@(v) (@) g ()
4) (@v) (i), G @ |

58. ST =0T - 1 fire kT T §
/(a) iy - fedes (b) FAFHEHES TR

(c) s aferd (d) ¥ - T
%<
1) @MB| 2 @I 3 @ ©3IR@ @ O) (IR

59. a#&aﬁwwﬁma%waﬁw&aﬁaﬁiﬁﬁg&aﬁm@m frafafea w9 3 =1 T € -
(1) 9% SR fraRoert 2) WU R sifemfaa
(3) oTeYl iR St (4) AT AR TER fR
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60. Match the items of List - I and List - IT and select the correct answer from the answers given

below :
List -1 List - II
(Scholars) (Concepts)
(a) Cattell (i)  Assortative Mating
(b) Jensen (i) Investment Hypothesis t_
(c) Sternberg (i) Wisdom H e
(d) Spearman (iv) Positive Manifold f .
Codes i
@ ®) © @ - -'
M 6 @) () (v A\ %)
@ G (O @) () ;,.f/
@) W) @) @ @ f 1/
@) @ O @ W \ J/

L)
61. Match List - I with List - IT and select the correct answer by choosing from the codes given

below : -
\ )
List-1 ' A List - II
(Tools/Theory) (Features)
(@) Kelley’s Personal Construct Theory (i) 11 categories of scoring TAT
|
(b) Murray’s TAT (if) 6 subcategories of needs and goals
(c) McClleladd and Atkinson’s measure of n-Ach (iii) 20 needs
£ ( (iv) One postulate and 11 corollaries

d) Rotter’s scgr \

~ (@ (b) |(c) (d

<1i ™ @@
@\ () @) @) ()
(3) (@) (v) @) (i)
@) (v @@ @ )
o-oass [ [{{IEAINANANNN 50
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60. Gt -1 %1 7&l I GeAI-11 o F1e GAAd < qe 9 ST 7 Fel H § Tt ST H1 =997 &

61.

R
2)
3)

)

(
(
(
(4

oaus [

%’ﬂ,

- 1 T - 11
(fagr) (T )
hed (i) TR
EREES (i) TrerT greRed
Tt (i) FfgHam
T (iv) THRHE agfay
@@ () (9 (9
@ @) () (i)

() (@) (@v) (i)
(i) (v) (@) ()
(i) (@) (@) ()

ﬂfi
el - 1 H ;
(W/ﬁmm)

éﬁ?mé@rﬁeﬂ%wfﬁm
X 1 AT

|

Hacrcie a8 Tefoh=am o1 IueIfed- STavaehal |19 (i)

~ ()

(iv)

J (ii)
(i)

(iv)

(b) '(c) (d)
(i) | i) (i)
(i) (v) ()
@v) @) (i)
(i) () (i)

(
(
(
(

i)

ii)

iv)

Iaﬁ'ﬂjﬁ II%N@WWHWW@W@WWW@@W%W

T - 10

(T80T
AT H wHRA HT 11 gforn
STETFhd a1 A&l i 6 TS
20 STETIHAT
T STYRAE a1 11 39fasid
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62. Match List - I with List - IT and select the correct answer by choosing from the codes given

below :
List -1 List - II
(Concept) (Description)
(a) Phonemes (i) Smallest meaningful combination of sounds
(b) Syntax (ii) Effective and appropriate use of language in social
context _
(c) Morphemes (iii) Basic sound of consonants and vowels | -
(d) Pragmatics (iv) Combination of words to make meaningful,ﬁﬂu‘ases
and sentences y
Codes : !
@@ () (o (d) : .
M @ G @) (v) (1 !
(2) G @D @) @) B - |
G G @ 6 @ ' A
@ @) @ @ 6 / |

|
f

63. Read each of the following two statements - Asseiiﬁgi'- (A) and Reason (R) and indicate
your answer using codes given below : #

Assertion (A) : The forgetting of agnemory is Cause'd by the disappearance of its engram
over a period of time.™

Reason (R) : Once the engram ]@55 disappeared, the memory no longer exists any where

in the memotyjsystem.

Codes : "

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3)  (A) is true, but (R) is {false
)

4) (A)is false, but (R) is true
o

i . . - | . . . . .
64./ Which is the correct'sequence of Reinforcement schedules interms of their effectiveness in
response rate and resistance to extinction during learning experiments ?

(1) Variable Ratio — Fixed Ratio — Variable Interval — Fixed Interval — Continuous
Reinforcement schedule

(2) Fixed Ratio —> Variable Ratio —> Fixed Interval —> Variable Interval - Continuous
| Reinforcement schedule

(3) & Continuous Reinforcement schedule — Variable Ratio — Fixed Ratio — Variable Interval
* - Fixed Interval

(4) Variable Ratio — Variable Interval — Fixed Ratio — Fixed Interval — Continuous
Reinforcement schedule
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62. Gt - 1! Gt - 11 % ¥ GAfera wifse qen Fefaread Ff w1 Ja0 w3d gL & SW Al 99
aflﬁnz:
el - 1 |l - 11

(o) (JuiT)
(a) eAf™ (i)  eafTEl 1 e el HAM
(b) AR & (i) rITeTsh e H WIoT <1 TS R ST FEAN
(c) ®fH (iii) ST S TR 1 SAURYA eaf £
(d) Hond AN fomH (iv) Enefer qei iR Rl w1 fmior e % forg wrssigght e
% : ] §
(@ ®) (o ()
1 @ G ([ ()
Ty N
@ ) G) @ 0 A’

F§ [
/ i ]

63. frAfafEd < weAl - IfueRe (A) 3R ek (R)aﬁwﬁqtsaﬁvﬁ%ﬁqm@wwmng
TR T : '

AURIT (A) :  FHIAUA H Ffd & fTEor &1 &R /%1 T B & |

e (R) : @wm%ﬂgéaﬁ%mﬁﬁﬁ—ﬁﬁwﬁﬁmﬁéﬁﬁ%l
%< - { '

(1) (A) 3R (R) S T ¥ 3y R), (A) F T = 3

2) (A) 3R (R) 1 w&t § W (R), (A) FT T == T 7

(B) (A) ¥ ¥, ofed (R) 7o B

(@) (4) T & R (R) A S

64. T etemi o e e ST A W i it 9 s 3 e FreAfa §
I T ST ST 1 W HH §?

C 1) dREdt SYE[ﬁu”déb — fft=a sTmfae - IREd S - FiEa daa — 9ad gFee

2) fafyea saufas — afiedia smaafas — ffyea Ao - sReda Sfaud — 9ad gHead
: N/ 3
(3), Had GAe@T STIHAT — IREdra AT — Mi=a sgafas - wRadia siae — ff=a
-
4) UREdta U — ReEda STaua — fAfyed ufas — fHfyea Saua — 9aq qAeaq
d 3

ST
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65.

66.

67.

68.

When a Background Interference Procedure was used experimentally, the following findings
became apparent ?

(1) Field independent persons did better than field dependent persons

(2) Field dependent persons did better than field independent persons

(3) Both field dependent and field independent persons did equally well

(4) BIP enhanced the performance of all subjects /
{ r

People with moderate mental retardation would have an IQ in the range of :
(1) 10to 19 (2) 35to 54 (3) 551070 \ (4) 20 to 34
g\
II|" |
/ | I'I
The following is not typically found in a school gui<$anc_é counsellor’s office :

Qf,{or

(1) Sand pit (2) Liede
(3)  Psychometric tests L) Puppetsf and play dough
</ '
| Y
The following social factors play a role in educational settings :
(a) co-operation { (b)+  competition (c) peer influence (d) role modelling
|
Codes :
(1) () and‘(bif only (2) (b) and (c) only
' ‘ I-
" (3) (c)and (d) ﬁnlyl' (4) All of the above

69. According to Piaget the children are able to grasp the concept of object permanence and
Coiuservatlon in :
v
(1) "~ Sensory motor stage (2) Pre-operational stage
Concrete operational stage (4) Formal operations stage
s ||\||H|||H!IMHI\HHHINHHHHI ’
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65.

66.

67.

68.

69.

9 Uah JeYfH SAfTRI0 Jfafy 1 TarTeTe STAN fohal T o a1 fefarad fehs sfeaia g o ¢

(1) &F-3TIYa AfRE 7 &3-7t9a At 9 a1 fFores fohan

2)  &F-3Nfya safadal 4 aF-AHd Afeadl @ e feare o

)
2
(3) &F-3NHd AR &F-STIHA A1 IR & AfH 3 oM Foare foman _

4) Ty gfafy & FerTEs 3TEnT (Sf.eTE W, ) ﬁaﬁﬁqﬁﬁ%ﬁwﬁq@;ﬁf;1

]
HIYR AHTSE Hed aTel Ao S Jfgarisd i 9 Fefafad 9 | g
1) 10319 (2) 35954 G Ba0 e 2035
A
.-'

mﬁﬁﬁ—mwwﬁﬁﬁm%ﬁ?ﬁﬁww%?
(1) @& ITEa ) s@mﬁﬁmﬂw

""x
(3) HAHfTE ThEm a I @ ogafaa R TR ga
.14 )
frefataa wmfsieh e Sefores fomme & e fram € -
iu
() wEEm | (b){srr‘cl“@qaf (c) UTHHY HYWE (d) STSE 1 STTH
‘4

Fe y
L) W(awﬁf 0) @ ¥ (E)AR(E () FE QAR @) R

|
RS % TR, o= frefafed § 3Seva Suafey s §Ref &t Hehoda1 &l g9g | gmd g6 §
§

WWW (2) qo EfswarcHe SraEen

(3) 39 HishaTcHe T (4) A= Gisharcas sTereer
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70. Match List - I with List - II, and select the correct answer by choosing from the codes given

below :
List - I List - II
(a) Symbolic social influence (i) A form of social influence in which one person
orders to perform some action
(b) Normative social influence (i) Social influence based on the desire to be

correct -

f
() Informational social influence (iii) Social influence based on the desire to be liked

(d) Obedience (iv) Social influence resulting.from the n;éntal
representation of others or our relationship
Codes : , {
@ ® © @ t .
CRNCI ORI b |
2) @) @) @) @ / _.
@) @) ) O @ fF \ /
@ @) @@ 6 0 \ﬁj
Instructions for Q.Nos. 71 to 75. . 4 r

Read the following paragraph and d’:&lSWEI’ the five questions which follow :

Paragraph : Experimen_t_e& éersonality research was extremely popular after 1950 for
about three to four decades. In experimental personality research, one of the major focus is
to study how the effect of experimentally manipulated independent variable is moderated
by personality variabke/ s.~In one of such study, the researcher wanted to study whether the
effect of Interpolated learning (A) is moderated by Anxiety (B). The researcher hypothesized
that the interpolated learning would adversely affect the recall of original learning more in
high anxious subjects than low anxious subjects. Using a standardized Anxiety scale, from
an initial pool ofitwo hundred subjects, fifty high and fifty low anxious subjects were obtained.

/ Both, high as welljas low anxious groups were further divided into two groups-Experimental
group and Cont%l gtoup. The experimental groups first learned List A of CVC trigrams,
then learned another List - List B of CVC trigrams with similar association values, and then
tested for Recall (A). The subjects in control groups learned List A. Then they received the
caneellation taskifor the specific period (equal to the average time, taken by the corresponding
experimental gﬂoup to learn List B). The subjects were then tested for the Recall of (A).
Gmpupwise means and standard deviations for recall scores were obtained.

¥ The standard deviations were found comparable across the groups. Treating recall
scores as the dependent variable, the appropriate ANOVA was carried out. The main effect
of A was found significant at 0.05 level. Similarly, the F-ratio, defined as ‘MS, , 5/ MSy" was
found statistically significant at 0.01 level.
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70.
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/  fawfsa feren
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(c) HETcHe HHITSIeh FqTe (iii)
(d) STgE (iv)

(@ (b) (o) (d)
() @) (i) (iv) 4 {
i) (i) (v) () ' P
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N
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71.

72.

73.

74.

75.

Which one of the following design is used in the above research ?
(1) Multigroup design with single I.V. (2)  2X2 factorial design
(3) 2Xx2 mixed factorial design (4) Repeated measures design

Which one of the following statement is true in the context of above study ?

(1) The assumption of homogeneity of variance was satisfied.

(2) The assumption of homogeneity of variance was not satisfied. ¢
(3) The correction for heterogeneity of variance was required. 'f;
(4) The data are insufficient to evaluate the assumption of homogeneify of variance:

On the basis of the information provided about the main effect of A, it csfn, be concluded
that : i ’

(1) Interpolated learning had no effect on the recall ofA. {

-

(2) Interpolated learning caused retroactiveJlr terference
(3) Interpolated learning caused retroactlvi'e fac111tat10n
(4)

Either retroactive interference or retroactlve f%ﬂ?atlon has occurred.

What would be the degrees of freedom for the numerator afid denominator of the F - ratio
defined as ‘MS, ,, g/ MSy" ? b &

(I) 1 and 96 respectively 4 ){ (2) 1and 98 respectively

(3) 2and97 respectlvely Vi o (4) 3 and 96 respectively

Which of the following concluswn/ s can be drawn about the researcher’s hypothesis ?
(a) Researcher’s h}fpothﬁms has been verified.

(b) Researchet’s hypothesis has not been verified.

(c) . Full dataghave not been presented which is necessary to evaluate the researcher’s
hypothesis.

( (d) Anxiety m erated the effect of interpolated learning.

Codes :
(1), (a) only | (2) (@) and (d) only
(3) (c) and (d)I only (4) (b) and (d) only
\
‘ ' -00o0-
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71.

72.

73.

74.

75.

o-aus [ N RUI ;
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